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Solving Linear Systems by Elimination 4 /4/20/0
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Steps:

—

. Write equations in the form ax +b y =c.

2. Look for the coefficients of one of the variables
to be the same (sign does not matter).

3. If necessary, multiply one or both equations by
a whole number to achieve step 2.

4. a) Same coefficient, same sign: subtract

b) Same coefficient, opposite sign: add.
5. Solve the resulting equation.
6. Substitute to find the value of the other variable.
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3. 3(x+2)-(y+1)=7
3n+b—y-[=F 414-33-L=o
31--!94' S=%
x-4=2 0O
Ox3: 72-33 =(L ®
@: l(l-*-?q 6

4x+3(y-2)=0

Sub %=

add.  (3y
)
N0

()wz

=2

12

—

4n 4'38,=(9 @

Feb 15 - 3:57 PM

2 8
[l

4XY_4@

Y
2

Z_L__n @

b =8

ch 6

Ox?' 5(2) +2() -2
oty =32 ©)

O L ¢(D4(%)=
=3

@x2: qx-by =24 ©

®: 4x+q—3z_

=-2 @

subdeact

%

<5 =
414‘(?) =322
=2

Feb 15 - 3.57 PM

February 16, 2010



03x Solving by Elimination.notebook February 16, 2010

Assigned Work:

p.101 #(2, 3, 6)(0dd), 10adf, 22*
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